CS241 - Scheduling

This week you are going to be different scheduling methods, pros and cons.
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What is the Convoy Effect?
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Algorithms: Shortest Job First

500ms, Runtime: 500ms
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Shade in when the jobs are running. For all of the problems assume that
the processes have the following arrival time. Ties are broken by arrival
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Algorithms: Pre-emptive Shortest Job First

Same times as last problem
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Algorithms: First Come First Served

Arrival: 500ms, Runtime: 500ms
Arrival: 2000ms, Runtime: 1000ms
Arrival: 1000ms, Runtime: 1000ms
Arrival: 500ms, Runtime: 1500ms
Arrival: Oms, Runtime: 2000ms
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Algorithms: Priority

Arrival: 500ms, Runtime: 500ms, Priority: 2
Arrival: 2000ms, Runtime: 1000ms, Priority: 5
Arrival: 1000ms, Runtime: 1000ms, Priority: 3
Arrival: 500ms, Runtime: 1500ms, Priority: 1
Arrival: Oms, Runtime: 2000ms, Priority: 4
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Algorithms: Round Robin
500ms Same scheduling as the last one.
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